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No BEZ B 4Z{E (mg/D) A & FOKE ERKE
1|1, 3—>y/smn7a~x> (D—D) 0.05 FamHl <0.0005 <0.0005
2[2, 2—DPA (£7#%Y) 0.08 BREH <0.0008 <0.0008
32, 4—D (2, 4—PA) 0.02 BREH <0.0002 <0.0002
4|EPN 0.004 Fa#F <0.00005 <0.00005
5|MCP A 0.005 FREFI <0.0001 <0.0001
6|7 27 L 0.9 FREFI <0.009 <0.009
N727=—+ 0.006 Fa#F <0.00006 <0.00006
| B 0.01 FREFI <0.0001 <0.0001
ol 7=mkx 0.003 B2 <0.00003 <0.00003
10|77 X 0.006 FamHl <0.00006 <0.00006
1nrsso—n 0.03 FREFI <0.0003 <0.0003
w2A4vEyF4r 0.005 FaHF <0.00005 <0.00005
184V 7zvkz 0.001 BEH <0.00003 <0.00003
14|14y 7rHL7 (MIPC) 0.01 P <0.0001 <0.0001
15147545y (1PT) 0.3 P <0.003 <0.003
16|14 77z ANy 0.002 FREFI <0.00002 <0.00002
17|14 7a~>kz (1 BP) 0.09 BEH <0.0009 <0.0009
8|1/ 020 0.006 BEH <0.00006 <0.00006
w77 0.009 FREFI <0.0002 <0.0002
20|lzx7ahLT 0.03 FREFI <0.0003 <0.0003
20t b7z 7Ry o2 0.08 FaHF <0.0008 <0.0008
2Ty FRLT7 7Y (Ry/TEY) 0.01 FamHl <0.0001 <0.0001
BlFFHTroxR 0.02 B 25 | <0.0002 <0.0002
24|7F * > R (FHESR) 0.03 HEF <0.0003 <0.0003
5|7V boey 0.1 BEH <0.001 <0.001
26| H XY KR 0.0006 FamHl <0.000006 <0.000006
27|72 bm—0 0.008 FREFI <0.00008 <0.00008
28| hzy 7 0.08 FamHl <0.0008 <0.0008
29|mLxyL (NAC) 0.02 FamHl <0.0002 <0.0002
0|HhLE7F v 0.0003 ik <0.000003 <0.000003
31if¥/273~ (ACN) 0.005 BREH| <0.00005 <0.00005
kY B 0.3 BEH <0.003 <0.003
33l > 0.03 FREFI <0.0003 <0.0003
34|70 wH— b 2 FREFI <0.02 <0.02
35|/ LR -k 0.02 B 25| <0.0002 <0.0002
6lvexTny T 0.02 FREF <0.0002 <0.0002
37|l7or=rm7z> (CNP) 0.0001 BRELH <0.0001 <0.0001
38|z oney Rz 0.003 FaHF <0.00005 <0.00005
39l/omgo= (TPN) 0.05 REF <0.0005 <0.0005
awlv7ror 0.001 FREFI <0.00001 <0.00001
4|>7 /%X (CYAP) 0.003 FAHF <0.00003 <0.00003
42|>vn> (DCMU) 0.02 FREH <0.0002 <0.0002
43l s0~=)L (DBN) 0.03 FREH <0.0003 <0.0003
44> 0RX (DDVP) 0.008 FaHF <0.00008 <0.00008
45|07y b 0.01 FREFI <0.0001 <0.0001
46|V AN by (ZFLFFALY) 0.004 FamHl <0.00004 <0.00004
4O FF AN — P REE 0.005 X RF <0.00005 <0.00005
| FHEeL 0.009 FREFI <0.00009 <0.00009
sl oky 77FL 0.006 B 25 | <0.00006 <0.00006
50>~ > (CAT) 0.003 FREH <0.00003 <0.00003
51|lox a4 by 0.02 FREFI <0.0002 <0.0002
52| 4 b —k 0.05 Fa#F <0.0005 <0.0005
53|24 U 0.03 FREFI <0.0003 <0.0003
sa|lg 17 v 0.003 FaHF <0.00003 <0.00003
55|44 L0 0.8 FREFI <0.008 <0.008
56]% v Ay b AALGH-1 L) R UAFMYFEY TR 0.01 BEH <0.0001 <0.0001
571177 =1 0.1 REF <0.001 <0.001
58|77 7 L 0.02 BEH <0.0002 <0.0002
59| F AL ALT 0.08 FaHF <0.0008 <0.0008
60|F A7 72—k AT 0.3 REF <0.003 <0.003
61| FA~hLT 0.02 FREFI <0.0002 <0.0002
62|77 UL byt 0.002 FREFI <0.00002 <0.00002
63|77 hL7 (MBPMC) 0.02 BREF| <0.0002 <0.0002
e4lFU s OEL 0.006 BB <0.00006 <0.00006
65|~V ok (DEP) 0.005 P <0.00005 <0.00005
66|~V Tl 0.1 BEH <0.001 <0.001
67|rU LT 0.06 FREFI <0.0006 <0.0006
68| 7m/x3 K 0.03 BRESH <0.0003 <0.0003
69]/¥73—h 0.005 FREF <0.00005 <0.00005
I == s 0.0009 FREFI <0.000009 <0.000009
nlezoo= 0.01 FREFI <0.0001 <0.0001
njezvEr sy 0.004 FREF <0.00004 <0.00004
Bl UER—F (EFVL—}) 0.02 FREF <0.0002 <0.0002
e gz FAy 0.002 Fa#F <0.00002 <0.00002
Bl TFALT 0.02 FREFI <0.0002 <0.0002
D CEE= 0.05 BEH <0.0005 <0.0005
77|74 7m=0 0.0005 Fa#F <0.000005 <0.000005
78|7z=taFF> (MEP) 0.01 FaHF <0.0001 <0.0001
9|7/ 7Hh1L7 (BPMC) 0.03 FaHF <0.0003 <0.0003
so|l7zv L 0.05 BEH <0.0005 <0.0005
8|7z F#+> (MPP) 0.006 Bl <0.00006 <0.00006
82|77z +bx—+F (PAP) 0.007 FaHF <0.00007 <0.00007
8|7z b IN 0.01 FREF <0.0001 <0.0001
84|70 51 F 0.1 BEH <0.001 <0.001
85|72 m—u 0.03 FREFI <0.0003 <0.0003
86] 7 4% Ik 0.02 FREFI <0.0002 <0.0002
g1|77n 7oy 0.02 P <0.0002 <0.0002
88| 7TV F L 0.03 BEH <0.0003 <0.0003
89|7LF7rm—L 0.05 FREFI <0.0005 <0.0005
o|7rr Ry 0.09 BEH <0.0009 <0.0009
91|7aFA KRR 0.007 | <0.00007 <0.00007
92|7arary—i 0.05 BEH <0.0005 <0.0005
93|7mEyIF 0.05 FREFI <0.0005 <0.0005
wul7arrv -1 0.03 BEH <0.0003 <0.0003
95|70 ETF K 0.1 B <0.001 <0.001
96|~/ 2 0.02 BEH <0.0002 <0.0002
97|=>vy Ry 0.1 BEH <0.001 <0.001
98|~ versny 0.09 FREF <0.0009 <0.0009
LL] S 0.005 FREFI <0.00005 <0.00005
100> & v 0.2 FREFI <0.002 <0.002
101> F 4 X2y > 0.3 FREFI <0.003 <0.003
102|R>75ALT 0.02 P <0.0002 <0.0002
103|R> 750y (R2AYY) 0.01 B2 <0.0001 <0.0001
104> 7Le—+ 0.07 FREF <0.0007 <0.0007
105| R 2 F 7€ — k 0.003 P <0.00005 <0.00005
106|774~ (x7V>) 0.7 Bl <0.007 <0.007
107|x2a 78y 7 (MCPP) 0.05 FREH <0.0005 <0.0005
108] 4 v 2 0.03 FaHF <0.0003 <0.0003
109| 4 & Z %L 0.2 BEH <0.002 <0.002
1MO|XF&F#> (DMTP) 0.004 Fa#F <0.00004 <0.00004
M|/ Z2kREY 0.04 FAHF <0.0004 <0.0004
1M2|x ry 7oy 0.03 FREFI <0.0003 <0.0003
M3 X7+t b 0.02 FREFI <0.0002 <0.0002
1a|lx 7= 0.1 REF <0.001 <0.001
15| €Y % — b 0.005 FREFI <0.00005 <0.00005
[ EEEE 1 0.00 0.00




